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Chose the appropriate answer (one option only):

1. Antonyms that represent two interrelated entities, one of which does not exist
without another are

a) contradictory antonyms

b) complementary antonyms

C) contrastive antonyms

2. Notional, or ideographic, synonyms

a) have identical meaning and can be used interchangeably in one and the same
style

b) are used in one and the same style, where their meanings exhibit variations
c) differ in both meaning and the sphere of application

3. Metaphor is based

a) on the similarity of entities

b) on the contiguity of entities

c) on the subsidiary concept represented by the internal word-form

4. The words “case” (cnipaBa) and “case” (kopoOxka) are
a) Full lexical homonyms

b) Partial lexical homonyms

c) Partial lexico-grammatical homonyms
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